H A O] AOQOl &S
HE =X+ oz
BH9] : atkel)
T2 2012724 201324t 2014244 20152 20160f| At
=q32 0 63,892 51,910 55,689 58,771
x =Xta
= CEX 266,190 226,440 152,191 210,074 233,949
= wmz
|
o | o+
% Q|Et 0l 139 253 142 327 62
(o] |
= 7|EtE 8,395 6,735 5,113 5,042 44
A 274,724 297,320 209,356 271,132 292,826




2013 =9I

M 57| 20134 128 A

SETEEYY

(che] : aiokel)
< A g
W 4 = o g 2 9

|. =21 290,332| | . 71 Al2UH 290,332

1. ddz 2D olg= 28,625| 1. Mz 21 o[¥Z 28,625

7t 20124 o|HZ 28,625 7t 20124 ApH| 28,625

1) &laoH 23,843

2) ol 1,138

2 gl 210 wgg 261,707 3) et 3.644

Jh 21 Ex32 197.815 0 7| ghehod 1.116

1) AFdH| 180,343 o ghet of ol 2,528
2) AT 17,472

LA b= 63,892 2. EslHE =1 MR F 261,707

1) AldH| 63,892| 7. 21 2=x3 197,815

1) AbdH| 180,343

o g 136,616

ool 29,842

o HhehoH 1,079

- 7| ghetod 542

— Hheh of & 537

o0 O| ZHol (o Mo =z 5H) T2 12,805

2) 4| 17,472

o e 16,997

- QlZH| 12,046

- ZdAa2g| 4,951

o HhHhoH (ko & o) 475

- olzZid| 274

- ZdAa2g| 201

Ll 20 &9 3 63,892

1) AFdH| 63,892

o g 57,014

ool 5,815

o0 O| ZHol (o Mo =z 5H) T2 1,063

II. 238k} 29l 6,258| || . =1 EHe ¢ ALELf A 6,258

1. X[8lg 2 ¢ 5,315] 1. Aliu| ZaiH 142

b X2 sl 4,393 7t 7IEE AlF2|AlY EHH 142
L 7s= 864

1) XAt 7|25 F=Y 694 2. dhol 5,884

2) RRDAIY 7|5 279 1701 2f. ghtod o YA (o =F AN =ZE) 5,884
ch XIAZCIe2=8) S oAt 58

3. O| Y (oY =5l 232

2. o|X}=¢l 908| 7t TEV|EolEHMzE £H olEt 7|ER 15

7b Z 10| Xt=¢d 908| L}. o|eiE(NIPA) O|2 7|22 105

ct. o|2H 2 (NIPA) o & o| X} 107

3. 32 49| 35| 2} st=EIREI =AM =E ol okt 5

. ZIet =¢4 40,485| Ill. 7| E} ¢ AlELHA 40,485

1. Mz o|HZE 25,662| 1. AliH| XY 15,386

7t AEEMEATTE(OIR Z8) 10,582| 7} dESAMEIFTFTE 2,630

R B R { (O PN e =1 13,127 L X2 5 2,576

ch X3 S(olAt=) 1,764] ch. AlR2 41

2. Al 42l (ol Xt &) 9| zh w&XEIIZ X 9,655

Of, o1 =Et=¢l (0| A= FY) 57| of. oA & FE 200

b, 7| EFEQL (0| R &} 123| Hb O|RH LS S7|F &E) 285

2. gslldz ¢ 14,822| 2. gt (o A £ 5} 802

Jb X2 = 1,262 7t Xl@3 S(0Ixt =x7h 391

L}, Abd 2l 468| Lt Ateied(0lxt Z3) 412
ch 4&XET|2 7,790

2} dESAEHTHT 745] 3. o] Y 3,634

o}, A7 5 FEY 196] 7} St=2E2EXZH =8 EXIF 3,634

HE. 7| EFX 2 o] Xp=¢ 727 ot S2EEXZH =3 ol X} 0
Al BHIZZH =38 X132 3,634

4. Xt7| o|EF 20,662

7t HESMNEATTE(OIX ZE) 8,984

L SHERIET|F(01AF 2 11,415




— IO M M o — 1 W W QO <t < — O N MmO MMM o)
O N O A © O N O W o O < MNOMO — 0O M o;mMm [ap]
- NN ©© - < 0 M- — O NN 0|
0 0 N~ - 0 N — - N M Al
< - [aV] [aVEN V] [o0]
[ap]
@
K+
st
é dR 3
3 35 & mm
7l ¥ ro IV
= " . =3 A_.womm B
Y T = W E S a0 N
_x |Taa SRR T S |
Bnom Z0y gk IR gl
My s (S0 5 T T e L
. o —_ = < 31 31 U = 2
Kgig N A.Ar.Ar M ez
SoiW g |ol8luyom ~ M Kmom g™
= ) oV = N K
gty RS gaie MHH WG g7y
mUoF |wrmmy 2 ®Was FAEogp mow
¥omom oo g =N m%nmmwum.ronm
Wl w gpPFRAIT 255 __IRKRKIK
TTE N DT WA A~ K~
e KN Koy Koo -
U oo V..I._/l_ o )
O AN © © VM OO O O AN — IO - 1B © © To)
O AN M © M O — O 0N O MmO AN O v W o
S005 ®v-® ©o-oqdoo [o
n O N ™ 0 O M~ < [qV) (qV]
< ™ (a0 [e0)
(4]
ol =1
o]
<+ Ma_._\_m <+
i TV _m
=] @E%mﬂ_ ol
o ol m._Mr._uATu_.__._lluAT ol & T
20 <F ECUN TR <F
) AoILu.AA_lLu ol ol
R0 ) 2 ol Al ) - N w0l &
Mg ol maimw_ &l
bWz ET T mm ™t gpolelol o N
E UHgm 2t HRE
._.__._u_Om_.._N _._.__uuﬁ..__u_.._r:&o__gMAle S =
u_.E%_wo E%duoDIDmﬁMmE%_ﬂ
Nrﬂﬁﬂ ﬂaﬂooooou_}_%ﬂ)
RE . W0 -~ No S o~
V.1.7|_ o D 4

2404

=
2l ZH|Y ofu|b|(H
ol uh

4

o
o3
<k
il
o
T
)
=
=
ol
i
I+
ilof
]
ol
KO
Tz
an
Tl
of
(a2}
o
<
[sg}
[aV)
™~
<
Yo}
7ol —
N ol
I3 8
(@)
- 3 =
@ = o
T_ 7 S
7 g ) )
(=} ~ A
X ~ E
S H e of
n = © <
= -
b2 m o
H = x g 5l
T 8l o
o T | _ ok
|um_op _A_.=._ ol o
> _ —
vy & on W
.o o ol .
o0 wH M o,s_um
= ol & :m_u._ -
S =
T<mo HES
oo Iy
mmﬁﬁ R Q3
0= 0 D ol -~ O
=) ol o o =
o+ oF o Ko © T
M E T o
s KE T @
o ol =z ol o o
ol mWA_lO\)
NrM._ o) C fn ™
< o - _
I3 o H.urJ_O_.._u_._n_
o o ol © 20wl
240 mﬁ0|r|..L
K — Z N H
RN T
Wﬂo%
N
=
K
o

ol
NIPA O| 2t CHAF 7| &2 104,894,277 £3
7|2 & 169,794,459
i

7|2 At4H[(400,000,000
£

o A
S

F1
M
=
73
M
75
M
=
M
=
M



